(2006)

MEC b
Navier-Stokes

N E)

a . al B ___8p Ju 62u
E+u—+v—+wa_fv AM( ]
L W_éb = i_ﬁp AN
a+u—+v + 2 fu—po AM( ;4—;]

p Am,Kwm

) )
&j @

@)

(4)

Po

37

wX9g 0T

360><518><7
At [sec] 1.0
[hour] 48
[hour 96
2 50(Ax=1 )
[m®/s] 15107
-1
7.2kmx10.36km
-1 Ax=1
4/3
2) 0.65m
% 1.125m%/sec
(
m°/sec) 6 8

(60~96hour)

275-8588 2-17-1



2
a
T
I
]

=

E
g
sl
j’f
2000 /
[
ol A P P -
0 2000 4000 BO00
X{m}
(@)
10000 | IT_\1

=

E
gl
4000 | ——
j’f
2000 /
.,
gl f. 1 . PR .
0 2000 4000 BO00
X{m)
(b)
-4

1)
-2(a)~(b)

)
1) MEC Ocean Model http://mee.k.u-tokyo.ac.jp/mec/model
2) http://www.kaiho.mlit.go.jp

-3(a)~(b) 3) http://pref.chiba.lg.jp/syozoku/b_soukei/sanbanze
f/index-j.html

4) (2006)
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